
Quest ce que le cadeau  G' - ? ( )Quel nombre se trouve dans chaque cadeau?
15 × 9 = 4 × 14 = 2 × 6 =2 × 20 = 14 × 19 = 15 × 17 =16 × 19 = 18 × 13 = 8 × 8 =8 × 9 = 12 × 16 = 15 × 8 =6 × 7 = 6 × 4 = 10 × 12 =5 × = 35 6 × = 120 15 × = 1055 × = 10 14 × = 112 16 × = 11211 × = 143 15 × = 195 11 × = 16516 × = 32 11 × = 198 18 × = 1443 × = 21 13 × = 39 10 × = 150× 17 = 68 × 9 = 117 × 14 = 28× 4 = 64 × 2 = 6 × 10 = 50× 13 = 195 × 2 = 28 × 8 = 88× 16 = 320 × 16 = 224 × 20 = 80× 18 = 360 × 7 = 133 × 20 = 180
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Quest ce que le cadeau  G  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
15 × 9 = 135 4 × 14 = 56 2 × 6 = 122 × 20 = 40 14 × 19 = 266 15 × 17 = 25516 × 19 = 304 18 × 13 = 234 8 × 8 = 648 × 9 = 72 12 × 16 = 192 15 × 8 = 1206 × 7 = 42 6 × 4 = 24 10 × 12 = 1205 × 7 = 35 6 × 20 = 120 15 × 7 = 1055 × 2 = 10 14 × 8 = 112 16 × 7 = 11211 × 13 = 143 15 × 13 = 195 11 × 15 = 16516 × 2 = 32 11 × 18 = 198 18 × 8 = 1443 × 7 = 21 13 × 3 = 39 10 × 15 = 1504 × 17 = 68 13 × 9 = 117 2 × 14 = 2816 × 4 = 64 3 × 2 = 6 5 × 10 = 5015 × 13 = 195 14 × 2 = 28 11 × 8 = 8820 × 16 = 320 14 × 16 = 224 4 × 20 = 8020 × 18 = 360 19 × 7 = 133 9 × 20 = 180
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